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QUESTION 1

Which are three Cisco ISE use cases? (Choose three.) 

A. BYOD 

B. Assurance 

C. Monitoring 

D. Security Incident and Event Management 

E. Access Control 

F. Segmentation 

Correct Answer: AEF 

 

QUESTION 2

Which protocol is used between an Endpoint and a Switch with an 802.1 authentication? 

A. RADIUS 

B. EAP 

C. MAB 

D. TACACS 

Correct Answer: B 

 

QUESTION 3

How does identity management solve two customer problems? (Choose two.) 

A. Enables and enforces 802.1X across the network platform 

B. Manages group membership 

C. Provides network visibility and security 

D. Increases digitization 

E. Achieves dynamic and adaptive network segmentation 

Correct Answer: CE 

Reference:https://www.slideshare.net/robboyd/techwisetv-workshop-cisco-identity-services-engine-ise slide 3 
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QUESTION 4

What definition is not part of 4D Training? 

A. Demo 

B. Discover 

C. Deploy 

D. Defend 

E. Design 

Correct Answer: D 

Reference:https://www.cisco.com/c/en_sg/partners/blackbelt/enterprise-networking.html#~stickynav=2 

 

QUESTION 5

What is the default interval for BFD packets? 

A. 1 second 

B. 15 seconds 

C. 10 seconds 

D. 5 seconds 

Correct Answer: A 

Latest 500-470 Dumps 500-470 Exam Questions 500-470 Braindumps

Powered by TCPDF (www.tcpdf.org)

Latest 500-470 Dumps | 500-470 Exam Questions | 500-470 Braindumps                                3 / 3

https://www.leads4pass.com/500-470.html
https://www.leads4pass.com/500-470.html
https://www.leads4pass.com/500-470.html
http://www.tcpdf.org
https://www.leads4pass.com/500-470.html
https://www.leads4pass.com/500-470.html
https://www.leads4pass.com/500-470.html

